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3XML� GDQ� V\XNXU� VHQDQWLDVD� 3HQXOLV� SDQMDWNDQ� NHKDGLUDW� $OODK� 6:7� \DQJ� VHODOX�

PHPEHULNDQ� QLNPDW� GDQ� NDUXQLD� 1\D� NHSDGD� VHOXUXK� XPDW� PDQXVLD�� 6KDODZDW� EHVHUWD�

6DODP� VHPRJD� VHQDQWLDVD� WHUOLPSDK� FXUDKNDQ� NHSDGD� 1DEL� 0XKDPPDG� 6$:�� NHSDGD�

NHOXDUJDQ\D��SDUD�VDKDEDWQ\D���KLQJJD�NHSDGD�NLWD�VHODNX�XPDWQ\D��VHKLQJJD�SHQXOLV�GDSDW�

PHQ\HOHVDLNDQ�3UR\HN�$NKLU� LQL�GHQJDQ� MXGXO�³3URWRW\SH 6HQVRU�3DUNLU�PHQJJXQDNDQ�

5HDOWLPH� 'DWDEDVH GHQJDQ� .RPXQLNDVL� 0HVVDJH� 4XHXLQJ� 7HOHPHWU\� 7UDQVSRUW

�0477�´��7XMXDQ�GDUL�SHQXOLVDQ 3UR\HN�$NKLU�LQL�\DLWX�JXQD�PHPHQXKL�VDODK�VDWX�V\DUDW�

NHOXOXVDQ�3URJUDP�3HQGLGLNDQ�'��7HNQRORJL�7HOHNRPXQLNDVL�8QLYHUVLWDV�7HONRP�

3HQXOLV�PHQJXFDSNDQ�WHULPDNDVLK�NHSDGD�VHPXD�SLKDN�\DQJ�LNXW�VHUWD�PHPEDQWX�GDQ�

PHPEHULNDQ�GXNXQJDQ�DWDXSXQ�PRWLYDVL�GDODP�SURVHV SHQJHUMDDQ�3UR\HN�$NKLU�LQL��3DGD�

SHQXOLVDQ� 3UR\HN� $NKLU� LQL� 3HQXOLV� PHQ\DGDUL� EDKZD� 3UR\HN� $NKLU� LQL� MDXK� GDUL� NDWD�

VHPSXUQD��2OHK�NDUHQD�LWX�3HQXOLV�PHQJKDUDSNDQ�DGDQ\D�PDVXNDQ��EDLN�VDUDQ�DWDXSXQ�NULWLN�

GHPL�NHVHPSXUQDDQ�SUR\HN�DNKLU�LQL���6HODLQ�LWX��3HQXOLV�MXJD�EHUKDUDS�VHPRJD�EXNX�3UR\HN�

$NKLU� LQL� GDSDW� EHUPDQIDDW� EDJL� PDV\DUDNDW� NKXVXVQ\D� EDJL� VHOXUXK� FLYLWDV� DNDGHPLND�

8QLYHUVLWDV�7HONRP�

%DQGXQJ�� -XOL ����

3HQXOLV


